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1 |clas entManagementSystgm {

2 tude. [ @ /* ss[i] has static type Student =*/ int c;
3 void addRS (ResidentStudent rs) { ss[c]l = rs; c ++; }

4 void addNRS (NonResidentStudent nrs) { ss[c] = nrs; c++; }
5 void addStudent (Student s) { ss[c] = s; c++; } }
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1 ’class StudentManagementSystem {

2 | Stu ~ ,/ 1s_static type Student */ int c;

3 void( @ { sslc] = rs; c ++; }

4 void addN: nResrae t nrs) { ss(c] = nrs; c++; }

5 void 1) {sfs\[c] = s; ct++; } }
NI

Student sl1I = new Student () @\C@

St s2 = new ResidentStu t();

([ Student/ s3 = new NonResidentStudent() ;
ResidentStudent rs = new ResidentStudent () ;

nrs = new NonResidentStudent () ;
ana ementSys em sms = new StudentManagementSystem() ;

: r£=3%3
smsddRS s); ‘ RS St

.addRS (nrs) ; ®
ems)addstudent Q1) ;]

v
sms.addStudent (s2) ; ‘
sms.addStudent (s3) ; .
sms.addStudent (rs); @
sms.addStudent (nrs) ; ‘
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SST. Sudent RLS@I

= new géRes.ldentStudent22Nancy") 1
: Student; s : Non tStudent +/

StudentManagementSystem sms = new StudentManagej

sms.addRS (s); X JY/IQ id
y RS) = re

new es.1dentStudent "Rachael") ; EV
ST: Student; entStudent */

tudentManagementSystem sms = new StudentManagemen/tisstem

ms.addRS (s); x J.}\qg AY)HRS( >m\
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—
H= new NonResidentStudent () ;
: NonResidéntStudent; DT: NonResidentStudent x/

|
2
3 | StudentManagementSystem sms = new StudentManagementSystem();
4 | sms.addRS(nrs); x /{/g
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1 | ResidentStudent\rs new ResidentStudent ("Rachael"); ——ﬁ /(.I/ZS\ S @QM& &‘5‘[ S
2 | rs.setPremiumRate(1l.5); K
3 | NonResidentStudent(nrs)= new NonResidentStudent ("Nancy") ;
4 | nrs.setDiscountRate (¥.5);
5 stem sms = new StudentManagementSystem() ;
) / bolyvmo I
6 ‘ * polymorp hism +*/ class StudentManagementSystem {
7 r' /% polymorphism */ Student[] students;
8 | Course eecs2030 = new Course ("EECS2030", 500.0); int numOfStudents;
9 | sms.registerAll (eecs2030); i maeieend o .
- . ) ) void a tudent tudent s
10 | for(int 1 = O,‘ 1 < sms.numberOfStudents; 1 ++) { students | numOfStudents] = 3
11 /#* Dynamic Binding: numOfStudents ++;
12 * Right version of getTuition will be called */ }
12 I System.out.println(sms.students[i]. getTuition() ); void registerall (Course c) {
}

for(int i = 0; 1 < numberOfStudents; 1 ++) {

students[i].register(c)
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sSms.ss
uIl null I null I null | null l null l null I null I

sms. getstudent(O) sms . getStudent (1)
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Course eecs2030 = new Course ("EECS2030", 500);
ResidentStudent rs = new ResidentStudent ("Rachael");
rs.setPremiumRate(1.5); rs.register(eecs2030);

NonResidentStudent nrs = new NonResidentStudent ("Nancy");
nrs.setDiscountRate(0.5); nrs.register(eecs2030);

if (4 0 |1

throw new egal Xoeption("Invalid
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anceof ResidentSt

/+ false */
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7 iVersion Ifi ResidentStudent called:750x/

udent rs ='sms.getStudent(O); X
sms.getStuden @‘D ; /* dynamic type of
¥
pr e
print 7n NonResidentStudent calle *
NonResidée udent nrs2 = sms.getStudent(1l); x
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return this <= obj;

class<%/}

/+equals not overriddenx/

'_\
}
class( B Jextends A {
/*equals not overriddenx/

}

class extends B {
/+eqlials not overriddenx*/

}

1 \ngect ¢l = new C();
2 |Obje c2/)= new C()
3

L0

é////,println(éﬁ)eggals c2));

7 L3 calls which version of
gl o7

o] equals? [ Object ]
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e

Object

boolean equals (Object obj) {
return this == obj;

}
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class A {
/*equals not overriddenx*/
}
class B extends A {
/*equals not overriddenx/

lass<ij>xtends B {
boolean equals (Object\obj)

/ - = PP | o A N /
/* overridden versioh */

}
ot G
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L3 calls which version of
equals? [C]
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boolean equals (Object obj)
return this == obj;

class A {
/*equals not overriddenx/
}
class B extends A {
Qﬁboolean equals (Object obj)
/* overridden version +*/
}

}
class C extends B {
/*equals not overriddenx/

}

{

Object cl1 = new C()
Object c2 new C()

.
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1
2
3

println@cl)equals(@%));

L3 calls which version of
equals? [B]




